Comprehension

Comprehension ame of several tvpes, We
will discuss thern one by one, zceording to
their pypes and lovel,

CI‘},rpe 1, Level- 1)

Tvpe 1 orlevel -1 comprehensions are very
casy. To save tme, we ges the guestions first
because answer of the firsl guestion is at
the starting of the passage. As you proceed
further, you will gel all the answers of the
questien, Many times, after reading the whole
passage, we are not able to solve the
gueslions properly and then we hawve o read
the passage agan which means wasting our
time, Sg, reading the question fi-s: instead
ul lhe passage 1= 8 better way of answeoring
the gquestions. Sce the passages given below,

Dlrection ; You have some brief
passages with some questions following
each passage. Read the passages carefully
and choose the hest answer to each
guestion out of the four alternatives.

Note: All answers have heen
underlined.

PABSAGE - 1

Earthovalee i3 a skaking cof the gpround
caused by the sudden hreasking and shifting
of Targe sections of the sarth's rocky outer
shell. *Roclk movements during an earthcuake
can make rivers ¢hange their course,
Earthqualies can trigger landslides that canae
great camapge and loss of life. Large

*earthguakes beneath the ocsan can crodle
a series of huge destructive waves called
tsunamis. Earthguakes usually never kill
people direcily. Inslead, many *deaths and

injuries resull from falling objects and the

cellapse of sirgotures, "The force of an

earthauake depencs on how much rock hreaks

and how far it s5ils,

i Whal casses an earthouake P

[A) Floods

[B) Defarestation

() Constroactinn activilies

() Movement of the earth's rocky outer
shell

Whar changes the dircction o rivers?

4] Uze of explosives

B Movernent of roclkes

{2 Landslidcs

1 Soil erosion

Waet do earthguakes beneath the

auoEn create 7

Al Tsunamis  (B] Eruptions

() Shifting of the earth's lectonic
alates

Ty Cracks in the ground

Whal causes the deaths ol people

during-earthnusles ?

Al Brampeode

B} Latk of heath

[C) Falling okjecte and collapse of
siruclures

(D] Parc

The [orce of an carthenale depends ob

what?

(4] Shaking ot the ground

(B Shifting snd breaxing of rocks

1C Gravity

(L) Maaniude
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PASBAGE - 2
Blame it on browen hearts and
bereavement, 1o mere shyness end buasy
roulines, ‘millions ol us sulfer from same
forrm of loneliness, %lile o diseass, it cuts
across clags, age groups and gender, leaving




very few of us immune. And it's nol "Robinson
Cruspe's leneliness, where g person s cut-
off from seciety, bul it's loneliness despite
living amid dear ones and reighbours, despits
the Internet and social networking, crowded
towns snd shopping malls ®' People can be
aoue without being lonely, or lonely in oa
crowd", says one resegrch paper on the
subject,

Thoze affecied by loneliness are generally
net keen o talle about it *They f=e]l ashamed
or embarrassed or siraply do nol beve anyone
to discugs the problem with. "Globally,
modern urban hving hes bhecome more and
more indivigdualistic and loneliness is a by
product of it, savs a psychoelogist,
"Relationships in present times have become
transiert, the concept of extended family has
wealkened and our circle of fricnds sy
narrowed,”

1, Who gecording to the auther, suffers
from lonelines =
(Al Qaly shy people
Bl Bereaved peopls
() Many peaple
(D) A few people
2. Lomeliness is like
1Al & disease
Bl shyness
€} an immunity
|DY & broken heart
3 "Robinson Crusoe's loneliness” means
(A) Iiving on an islend.
(B heing cut-off from society.
|C] being hated by society,
(D) having no familv.
&, Why wouldr't those affected by
loreliness want to talk abooat it 7
{A) They feel ashemed or have no one
to discuss with.
(B] They are too busy.
() Mo one is interested,
[[¥) They are immiine to it
& The author wriles that
(A] people [eel lonely only when they
arc alons,
{B] people can be alone and nos fee)
lanely.

{C) loneliness is caused by Robinson

Crusoe.
(M the concept of extended family e
still strong,
FASSAGE - 3

'Global warming is 2 very serious issus
thal is concerning every rational being on
earth. Changes in rainfall and plant
distribution 2= a resull of global warming
affect the migratory routes, feeding behavipuor
and mating habits of many sirds, *The rise in
femperanire might alse lead o o chonee in
ocean currents which might chaape (her
dircedon. The result will be the disTruption of
the entire mearine ccosyerem, *Due to the

warming of the Arctic region, huge smount of

methane which is now frogen under the socan
shall escape into the su wilh the continuous
melling of rthe region. This will cause a
vicioas cycle as methane is a green house
pas Lhat traps heat in the atmaosphere and
the added emissions might merezse the
warming process. The damags done can only
te nepated now by making every individual
environmenl conscious. This might help n
making us hope tn gift a fgreen earth to our
future generation which now appears to face
the tuest of extinction,
1. What is a very serious issue socording

to the author?

(&) Global warming

(B) Changes in rainfall

(€} Feeding behavioasr

(D} Chanpges in rainfall and feeding

behaviour

2. Whart iz the antonvm of 'rational 7

{A) stupid

(B) foolish

(C] inrational

(M) rrational
3 What might lead to 2 change in occan

CUTTEN ST

(A] Disruption o7 marine ecosysiem

[B] Rise i lemperaturs

{C) Dizruption of marine scogysiem

and rise in tempcrature
(O} Regulation of temperature




4, Arccording m the author,
{4) melling of the Arctic region will
preserve methane
(B] melting of the Arctic region waz long

foreseen

[(C) Warmng of the Arcric regiovu will
release  methane into the
atmosphere

() warminyg of the Arctic region will
preserve methanes
5. What appears to fzce a threat of
extinction todoy?
[A] The migrazory birds
iB) The grecn house gases
IC] Muarine scosyatom

(T} {dar green earth

PASSAGE - 4

Street thegtre in India is a well cstablishoed
anciernt art Jorm, ‘Despite the proliferaton of
modernt  meatts ol entertainment  and
communication, streel rheatre continues to
floarish in Tredia,

Street theatre as a channel  of
communication has for centuries been
propagating reforms by highlighiing social,
economic and political issues present in the
saciety, *Unlike in the olden days, i1s
performance i no longer resivicted to villapes
ot emall localilies of the city, Today small
grougps of performers including students, would
stage perlormances to mobilize oublic opinion
ar to help create of ralss awareness over a
particular iz=ue of public tmportance. Themes
on substarce abuse, AIDE awareness, and
domestic vivlence arce some of the areas
highlighted by econtemporary street Lheatre
troupe; Unlikz in regular drama strect drama
employvery little props and images. The human
body becemes the main teol in which
choreagraphy, mime, dialogues, soags and
glogans are extensively used.

Strect thealrs s one of the most intmate
media. *lis appeal is to the cmotions lzading
to guick psychological impact on audicnces.
By being Ineal and live they also are able to
gstablish not only direct enntact with the

sudishece but by *heing cost-cflective and
flexible they are popular among all 2ge groups.
1, Maodern means of enlerrainment and
comunurication street theatre.
A} doss aflect ]
(B) do=zs not afleer
(T helps popularise
(D helps establish
B In the olden dave streel thestee
to villages ur small localities of the citv,
(Al was resirizted
(Bl was nor resiriooed
[} was opened (D) was entertained
& Street theatre usualy with 1s50es
af public importance,
(A] 15 distanced (B] is performed
{C) deals {0y does not doal
4, SBtroot theatre is Lo Srage,
4] nothing [B] castly
1C) reasonable (D) affordable
Sireet theatre creates anfa __ unpact
on audiences.
(4] intimate
{C) mystical

@rpa x5 Level-?)

It this level of Lype-1, guestions are not
rranged according te the passage 1e. answer
of rhe first questdon may be n the last
paragraph of the passage. For soiving this
tvpe of prssage, we should pick the keywords
from the guestions and then Ly to God them
in the paragraph while answering Lhe
dquestions. Ses the given passuges below:

) |

(B} emotional
(DO phivsizal

PASSAGE - 1

At first signl, silence would ®seein to be
tne esscoce of non communication, Yeo we
knuew that in somme clrcamstances silence can
speak volumes. I is also a potent tool in the
communicaticn tool-box, for the spealker, az
it adds emphasis o point, allowicg time for
ite full significance to sink in. Handled
skillfully, it can *haild vp anticisation for what
is to come-the pregnanl pause. [t gives
opportunity to make eye vontact with [he




audicnce and gauge their reactions, [t is an
gssential component of the timing of ane's
delivery. 'For the listener, silence can buv
time, eithsr to digest what has been said or
to considar a response, or both, Bilence will
often lure the speaker into seving more than
he or she mayv have intended,
1. For the listener, silence can

(A& Lure him to say more

(B8] Buy time

(€] Emphasise a pomrt

(O] Be a potent tool
2 According to the author, the pregnant
pause
[A) Builds up antcipation
[Bj Leads to confusion
[C}) Breaks up communication
D} Helpe communication
The upposite of Potent' s
Al Weak (B} Inharant
1C) Larent (D} Patent
<, Given the synonym of ‘Gauge'

(A Gather knowlodge

(B! Share information

IC] Measure

T3] Make statement
5. Silence scoma to be the cascnce of

{A] Communication tocl-box

(B] Non communication

(C) Cammunicabon

D) Volumes

PASBAGE - 2

some of us are g0 afraid of imagitation
that we skt our mental door against it and
turn the ey in the lock, *We think itz &
sigiy ol wenhkoess o be a dreamer — o see
the far vision of whet might be and do: ®Men
wha have done most for humanity, aned for
themscelves. have been imagnarive mern —
dreamers with the power and determination
10 make their dream come true,

The most successful in any line of
endeavour — husiness, sclence, arts, politics
— will tell you that 'vou must have vision
before vou can grasp reality. ¥ou mist be 2ble
1o see the groweh of future years, plan for it
and work fac it, belore you can materialise it

IL pays w culdvate imagination, *If one
15 to sccomplish anything o lile. one must
bave o purpose, an ideal and ideas

]

The mat who dogs the world the most
good, the man who helps markind onward and
upward, is the man whno dreams cf
helpfulness, wscfulness, progress and
improvement and  thea gets  them
marterialised,

I Imagination cnables one to have
bBefrre plans ean he materiabised

&) power B! determination
[C) visian {2} gifrs
2. In order tooaccomplish anything in life

it helps w be have afan :
(&) endesvour (B| progress
() rraterial (T} purpose
5 Many poople their power of
imagination.
(A seldom wse
[B] ar timcs would usc
[C] abstain from using
[T} prefer not to use
4. Many see the dbilicy to
of weaknosa,
(4] shut mmentgl door
(B imamne the [uture
(2] recall the pasl
[I¥] live 1z the present
i3 The greatsest contribators to humanity
are people,
{A) imagnative

A% A =ign

{(B) eduzcative

[C) compulsive (D) repulsive

Note: In .3 answer may e C or D,
PASBAGE-3

gell-directed learning, in its broadest
meaning, descerthes s process inowhich
Yindividuals talke the initiative with or witheoul
the help of otbers, i *diapnosing their lessing
n=eds formulating learaing goals, idsntifving
resources far learning, choosing and
implementing leprning strategies and
cvaluating learning outcomes, Thus it is
important to attain new knnwiedge easily and
skillfully Jar the rest of his or her hife.

What i the need for gelldirected Ieaming ?
One reason is that there i3 convineing cvidence
Lhat *people, who ke the initastive in leaming
learn more things and learn bstter than people
wha sit al the fect of teachers passively waiting
to ke mmpht. The sccond reasen iz that scli-
directed learming is more in wne with our nanaral




processes of psychologics] development; an

oasential aspect of maturing 8 developing the

abilizy to take incressing responsibliv of our owm

lives (o become mereasingly selfdirecied. The third

reason iy that nany of the new dovelopmenta in

education pul a heavy responsibilicy on the

learners m take & pood deal of nitiative in their

own learning, To meet tha *challenges in today's

instructive chnvironment, sell-directed learhing

is most essential.

1. In self-directed [sarning, an individual

(&) Takes initiative with or without the
help of others

(B] Is passivc and walts for directions

(] 1s kelpless and dependent

{0} Takes initlative. without an
ohjecrive

There iz nesd for self-directed learning

broauss

[A) it is less challenging

[B) it helps people 1o learn more things
and l=arn hetter

[T 1t 15 a mors cost-cifective method

(D} it ts8 modern method of learnng

3. Which word best describes self-directed

lrarning?

(4] Aztive learning

(B} Passive learning

{C) Compulsory .earning

{I}) Repulsive learning

The modern environment according to

the author is

() Restriclive

(B] lnstractive

(C) Less developed

(D] lmpracticasle

o The synonym of the word “diogrosing”

is

%)

I-"-

{A) SBearching
(C} Tdentfying

(B] Examining
N} Complying

PASSAGE-4
Ore of the main reasgns of corruption
in electinas rodav is the Tare of sower which
haunts the peliticizns so much that they feel
no qualms of conscience in adepting any
underhand method 1o come out successful,
*Corruption thrives in elsctions becauvse

thoge i the feld plav on the psvehology of

the clectarate. The vaters are swaved by the

tall promises of the candidares to whose
machinations they fall an casy prey. They ars
glan susceptible to fall an easy prey Lo the
atulationg of the politcians *due to their
literacy. Besides fanti-cormiption ldws are
honoured more in their breach than in their
chservance, Moreover, *some constitucncies
are =o big that it becomes difficult to discover
and check corrup! practices,
L, The peliticians indulge in cormption in

elections now-a-days because

[A) of the lure of powser

B] of the lure of money

(C) elections can he won orcly by corpt

mcans
(D corrupt practices in clections go
unnoticed
k. How does corruption thrive in elections
L2
[A) The people themselres are corrupt
[B] A sizeable part of the society is
corrupt
{C) The politicians exploit the
electorate povehologically
() The polidcians vheat the clectorate
ecoromically
3 According to the wriier, why do the

vaoters fall an easzy prey to the

machinationa of the politiclans 2

(4! Thev wane g sell their voies due
to poverty

B! Thkey are illiterate and do not
understand whal designs the
poulilicians have on them

[C) Toey are indifferenl to what
napzens on the polmicial horizan

M) They have na patitical knowledge

4. Why do the corrapt practices indulged

m during elections go coneticed ¥

‘A Because nobogy is interested n
discovering carmapt practices.

\B| Brezuss vested interests shield
those who mdulge n corrapt
practices

[C) Because the law enforcing
authorties themsclves are in
collusion witk the  poliicans,

D) Beeause the constituencies arc so
big that 1t becomes difficulr to
discover the ¢oTTupl pracrices,



5 What happens 0 e anti-cormuption

laws 2

{.5.|| Thara is actually no such thing as
anti-corruplion lHws

(B} Anti-corruplion laws gre certginly
homonred hutin s Hmited way

{C} Thr government docs not want o
cnforee and-corrintion laws

(D Anti-corruption laws dre honoured
more in their breach than in ther
observance,

In somme of the passages 2 or 3 options
are given in the snswers thal seem guite
stmilar. 3¢, tendency of making mistakes
increases, Sce the cuestion | and 3 in the

passages given below,

PASSAGE - 1

Many men and women are 50 moncy-
minded that *they do not undertake anv
serious work that does not pav. They believe
that it is foolish o exert themaelves for such
study and brain work 45 cannot be converted
ittto-¢ash. Hard work aonly for money, and then
plenty of play and pleasure, this scems to be
their rule of life, *They value intellect only
gs the Kev to material prosperity and regarc
personal development &5 a fad. This miserable
materialistic psvchology i very deep rontec
in all classes of society. Rich and poor, all
guffer fram it. An old working womarn

complained ta me of her son's hab:t of

cocasionally buying some cheap books anc
said, he wastes his meney on books' We
meet many people whose Lves are spent in g
monetonous sec-saw between their tade and
their [rivolous amusement,
L. The statement @ “He wasres his money
on books" demonslrates clearly
{4) how matenalistic she is
(2] the she considers reading frivolous
()} that she is ponr
(D) how animportant she thinks moncy
1%

2, What is rhe antonym of “monotenous™
2
(A) Dangermas  [B] Enterprising
(C| Interesting (] Adventutous
3. The Leim “sec-saw” means
1A} moving Lo and far
(Bl muoving in circles
(C} fluctrating (D) changing
= Moncy-minded pepnls undertake
serious work only if
(A} il is well paid
iB} it is pleasurable
(C] it inwelves hard work
(D] they can smudy
2. They regard ntellectual development as
(4] of 70 great wortk
iR = means af misery
iC] the key to prosperity
(3] the key o persocal development
Note; See the immediate reason in .1, The
enswer is ‘B, Instead of seeing the immediate
reason, if we see the final roason, the answer
will be ‘A% Also the arswors of (.2 and .32

depetd on our word power.

Type - 3 )

In many passages, an aspirant is
cxpected 1o understand the hidden meaning
of the passage apart ffom answerilg certam
questions accurately. Only after reading the
whole passage, do we understand the tone of
the passaees or the mood of the author, Ses
the passage given below,

PASSAGE - 1

Fleas arc perfectly designed by nature to
feast o anything contsining blood, Like a
shark m the water, [leas are ideally equipped
to do what they do, making them very difficult
to defeat. The body of *u {lee is covered by a
tovgh, tile-like plate called Sclenite, therclore
making it mpossible o souish it *Its body
is also waterproof and shock resistant thus
maldng it highly resistant fo spravs snd
chemicals. Fleas are best jumpsrs and can
reproduce rapidly. Fleas are intimidating
cpponenis, The hest way to control fleas is
Lo take steps to prevent an prevent an
Iafestation from ever ccourring.




B The primary purpose of this passage is
ta
(A) educate the readers about the
physical characteristics of fleas
(B] compare flcas to other members of
the animal kingdom
(C) relate the preblems that can resual.
from & flea imfestation
(D) explain why a flea infestation 1s
hard to control
2. The author s tone in the passoge is
{4} concerned (B] passionale
[C) informative (D) cpenionated
3, Fleas are difficulr 10 squish becacse
they
(&) have sclerite covering theu bodr
(B] are shock resistant
(2] are hesl jumpers
(D} are difficale to defeat
4. According (v lhe passage, fleas arc
resistanl to sprays and chemicals
because they
(A) have waterproof bodies
(B] are exuellent jampers
(C) reproduce very rapidly
(0¥} carmnnt be squished
5. Using the information in the passage
as 3 puide, it can be concluded that.
(A} humans do not possess lhe
physical characteristics of the flea
(B} fleas have certain phyairal
advantages in life
[} humans da not pay much atlenlivn
to the fleas
(D) fleas hzwve
disadvantages
Note:1 (.1 and Q.5 can he answered only after
reading the whole passage.
2. The auther is giving information in the
passage, So the tonc of the passage 18

informative,

While solving this tvpe of passage, it 1s
hetter o form tzhble,

many physical

PASSAGE -1
Some people believe that they are
masiers of their own fate. Other pecple see

themselves as pawns of fate, believing (hat
what happens to them in their lives is due fo
lucl or chance, The first type, those who
believe that they control their destinics, have
been labelled internals, whereas the latier,
who see their lives as being controlled by
outside forces, have been called externals.
Internals search more actively for information
before making a decision, are more motivated
to achicve, ahd maks a greater attempl [0
control their envifronmentl. Externals,
however, are more compliant and willing to
follow directions. Therefore, internals do well
on =ophisticated tasks - which include rost
managerial and professional jobs - that
require complex informarion processing and
learning. In additon, interpals are more
suited to jobs that require initiative and
mndependence of action, Almost al guccessful
salespcople, for instance are inlecnals. In
contras:, externals should do well on jobs
that are well steuetured and routine and in
which success depends heavily on complying
with the directions of others,

1.  Which one of the following is not

corroet? Internals-

{4) Have more confidence in their
ability,

(B) Are mnre entorprising.

(C) Go in for more routine jobs,

(D) Are maore inguisilive.

2, Which one of these is correct?

{A) Internals telieve in destiny.

(B) Internals scck jobs which are full
of fun of fun and enjoyment,

(C) Tnternals beleve in receiving
guidance arid directions from
supcriors only.

{1} Internals seek jobs which ecall for
maore initiative,

3: Externals perceive themselves:

(A] as those who search frantically for
meore nformation.

(R] as critical to the success ol tha
organizaticn,

{C} as lhuse who can influcrece sales
volumes.

() as having little contral over
organizational outcome.



4. Extornzls: Passage - 2
(A} Opt for acquiring new skill-sels,
(B} Delisve that inmitative end drive are 11C) 2. (A 3. (B) 4 (A 5 (B
impertant for caresr-building,
() Believe that destiny controls their Passage - 3
e,
¥ Relish handling comples 1o(a) 2o(D) 3 (B) 4 (C) 5 (DY
information processing.
[t i berter to make a table Jrstin Passage - 4
this tvpe of passape.

(1]

1. (B 2 (4 4 (€ 4 (D (Bl

Internals Externals
ﬁ}rpc 1, Level-2 ]
1. Mausler of their fale, 3. Pawns in
the hands of Paszsage -1
fate,
2.  Control their desring. 2, Contralled LB 2004 3 (A 4 (¢ & (B
by outside
force, Passage - 2
3. Search for ninimation 3. MNatking
hefore taking decision., given. L.1E) 2000 A M@ 4 (B 5 1A)
4, Meotvared to achieve 4. Nothing Paszage - 3
gIven,
5. Attempt to control 5. Compliant 1. (A 2.(B] 3. (A) 4 (Bl 5 I[C)
their environrment and. follow
inatructions Passage - 4
&, Do sophisticated B. Do well
joba where initiative structured 1.0 Z.0(Q) 3. B 4 (D & (D)
15 required, fo roticie
jobs Type 2
Note: The best and most appropriate way
to master this section is by becoming & Passage - 1

voraciois readar. You need to po through the )
pasaagc firat, got an idea of what has been 1B Z0(2) 3 (A) 4 [A) 5 1C)
discussed and then go w the guestivns On

reéading the question, you will feel you have Type 3
somewhere scen Lhe answer in the passage.
4 croszcheck will confirm vou answér: Passage -1

()

(|

1D 200 3 (A 4 (&)

; ANSwer-key e

|’Tj'pe 1, Le'.rel-l] Passage -1
Passage -1 L[C) 2.D) & (B 4 (C)

1, (D) 2. (B 3. (&) 4 (C) 5 (B



[Solved Practice Seﬂ

Directions: Read the pazsage carefully and
choose the best answer to each question
out of the four alternatives, and mark it
by blackcning the appropriate cirele in the
Answer Sheel,

PASSAGE - 1

W lodge s nothing but & dazk, Usv bl
made of palm frunds, with a bunck of damp
branches and a swaro of hes throogh g whole
in the wa'l ol leaves, | see a parch ol cleared
garth in the rainlersest: the stage ‘of
Clemnuris magnificus, the magnificent hird
of paradise®. The bird’s loud ozll, ‘Hyenpm,
Kyeng' has heszr ringing sinoe dawn,
annauncing the male’s imminent
performance. But his feathered female
spectators® Liave not ahoewn yol Perhaos
they are out window-shopping, taking a goad
lonk around antil they lind the mest
resplendent specimen®,

I hear & flutrering and ook up. A
magnificus s enthroned enoa braach aboat
2m above the stage: an iridescent-green
breast shield, bright orange-red wings?® an:d
a lemuen-velow cape wilh a furry briown eollar,
The teat and nill are & sparking aky-biue.
which also covers the oyvehds and exiends
down to the neclk. Tz olucks oll a few leaves
Lo letin moee liprt and optimize eye-contact
with' his sudience, Finelly, he drags the
freshly fallen lesves away from canvalk,

z, The syrorym for ‘oplimise’ is
(A to malke best uee of
b impreve. vision
[C) 10 spe cearly
1) 1o enlargs
Thie Bird performs for:
A rthe gurthar
IBi nooene
IC) Zemale birds
‘13 sheer enjoyvment
An iricesveut-grecn breast shield®
MLLEns
(A o piece of twig nsed by the bird m
114 performaneco.

1

i

(B) the bright, colourtul [eathers ot the

hird,

[C) a shield worn by the bird Lo protest

tlsell.

117} @ descriprion of the sarroundings,
4. The clemnurags magnificus s

(A) the wagnificient brd of paradise

i8] & place where his hul is locaied.

[{Cha paca of cleared curth in the

rairtforesl.

1D the stage in the rainforest
3 The mast resplendent specinen’ means

[A) besasiful and geatle

1Bl extravagant snd gaudy

(2} bright and eolourful

| appalling and ughy

PASBAGE - 2

A osmall band ol hiologists share a
drgam - to find spegies of sea or land
animals hitherto completcly unknown or
to discover living examples of animals
thought to have died out ages age®. inds
mede iz this venstury encovrage these’
dreamers, whose Jield iz aptly named
cryptozoctem - Lirerally, the sgience of hidden
aniTials.

Size and habitat are oftgn®
responsible for o angnal’s having been
overankod, Mot surprisingly, a4 bumblcbee-
ging bat that lives in cawves im Thailand
eluded detection until 19731, Bur larger
animals n less Lemote sizos have also
remuined hidden, 'erds of a speeizs of
asecrany supposedhs extinet since the lasl ice
age, for insance, were found in Paragpay
in 1975,

Wative people sometimes offer
scientists® useful clues. An unusual feather
in o lecals bar sparked the dizscovery of a
showy African peacock inl236°, and
gecounis of giant Hzards on the Indonesian
island of Komedo proved not to be mere
myth when naturalist P.A. QOuwens
identified four of the creatures saptured
in 1913% As cryptozoclogists foliow such




leads into little-explored areas, they remain
uplimistic that it is not too late to uncover
sensational surprises,

1, An unusual fezther in 4 local’s hat
sparked the dizcovery of a showy African
peacaock it '

(A] 1912 B, 1975
(C) 1936 (D} 14973

2. The dream of the oryptozoologist is to

find ;

(A} Species of sea or land animals
hitherto completely unkoown,

(B] Living examples of animals thought
1o itave died out ages apo.

[C) All of the given options.

(D) Hidden, susposedly
arrimals,

3. It is the of the cryprozoologists

that keep their oream active.

(&) curiosity [B) sparit

() lowe for adventure

exlinct

(D) finding
%, A bumblebes-size bat thal lives in caves
in Thailand was discovered 1n
(A} 1912 (B] 193&
IC) 1573 (D) 1975
B Myths refer 1o ;
[A) legends.

(B) historical stories.

(C) traditianal stories invelving
supernatural beings or events,

(D) love stories.

6 Often the cryptosoologists ger a lot of
feads from
{A) legends,
{B) myvths.

{C] native people.
() the animal’s size and habitat,

¥ Herds of a species of peccary supposedly
extinct since the last ice ape were
discovered in

(A} 1913 (B] 1o%3
(C] 15936 (D] 1975
4, Often tespurnsilble fur an animal

having beerl overlookec.

[A) the unigqueness of the enimals
themsclves is

(B} unexplored areas remain

(C] the resigning namre ol
scientists themselves is

(D) size and habitat are

L

Q, Giant lizards o1 the [ndonesias island

of Kpmedo were discovered in

(Al 1912 [B] 1573
(&) 1934 (D) 1975
1a. _ =still look forward w !J.j.::ili.'liil'v't:['i:l'tg

sensational susprises,

(A) The mnatives

(B} The naturalists

(C) A small band of biologists

(O] P.A. Ouwens

PASSAGE - 3

One conspicuons guestion in the
modern journals is: How can [ develop
personality? Ursula Bloom gives this
notocworthy advice to young people:
Pleaze do not do as I did, at your age, and
waste years copyving other people®, Of old;
to the same questinn asked by Gresl vouth,
Socrates replied: Enow yourselfl® Thar was
excellent advice; but it did not satisfy,
because it did not go tar enpugh, When Romean
youth guestioned Mareus Aurelius he =aid:
Be yourselfl* To the youth of sur atomic
nge, the psychologiast says: Develop
Yourself! That is the answer to the
gquestion:* What 1z personality? Personality
is the development of cneself.
1. The guestion on

development has

[4) no answers

(B] correcr answers

1) no definitive answers

(D a definitive answer
2. The development of onesell

gquestion on, what is personality?

(A) partly answers

(B] doss not give a salisfactory answer

[ a3

[C) given an unsatisluctory answer Lo

(D satisfactarly answers
3 The Greek philosopher Socrazes

promoled

[A] tosted-knowledge

(B] borrowed-knowledee

[C) referred-knowledge

D) self-knowlecdge
4, Marcus Aurelius preached to the

Roman youth of his day Lu

(4] be themselves

(B] express themselves

personality

thie



i) understand themselves
|0 know themselves
Ursula Bloom propagated that young
people should :
A] copy others
Bl giveadvice
IC) not copy others
D) net waste years

PASS AGE - 4
The recent change  all-volunteer'
armed forces in the United States will
evertually produce a gradual increase in
the proportion of women in the armed
forces’ and in the variely of women’s
assignments, but probably not the dramalc
gaine for women that might been expected.
This is so cven though the armec forces
operale in an cthes of institutional change
oriented toward ocoupational sguality and
under the federal sanction of equal pay

for egual work?. The difficulty is that
women are unlikely to be trained for any
direct combat operations®. A significant
portion of the larger sociely remains
uncomfortable as yet with extending equality
in this direction. Therefore, for women in
the military?; the gsarch for equality will
still be based on functional equivalence,
not identity or even gimilarity of task®.

Opportunities seem certain Lo arise. The

growing emphasis on deterrence 15 bound to

olfer increasing scope for Wwomen o become
involved in movel types of* noncambat
military assignments.

; The passage implies whick of tae
following is a factor conducive to a more
equitable representation of women in
the United Statcs atrmed [orces thar
has existed in the past?

{4} The all-valunteer character of the
present armoed [orees.

(B) The level of awareness on Lhe par:
of the larger society of military
isRIES. .

(C] The past.serviee records of womoen
whi had assignments functionally
equivalent to men's assignmenis,

(D) An increased decline in the
proportion of deterrence oriented
ron-combat assignments.

E'_II.

A suitable title for the passage might
e

(4] Current status of women o U3
mililary.

(B Current status of women in US
airforoe,

(C) Current status ol women in US
teaching service,

(D) Current status of women in uUs
TAVY.

According o the passage, despite Lhe

United States warmed [orces

commitment to cccupational cquality

ot women in the military, certain other

factors prechide wornern,

(4] having acctss Lo positions al
responsibility

(B} drawing assigrments frem a wrider
rarge of assignmenis than before

|C) bemg assigned all of the militery
tasles that are assigned 0 men,

(D] roociving equal pay for egual work

Which of the following is closest in

sense Lo the world novel used in the

LA4Rape?
(A new B} prosaic
(C] dull (D} boring

The word ‘opporturitics’ used ir the
passage may be replaced by all except.
[4) failures (B] prospects

(T epenings ([} scope

Which scnlence is an incorrect one?

(&) The diffculty is that women are
lilkely to be trained for any direcl
combal wperation,

[B) The recent change to all volunlary
armed forces ‘n US will produce a
pradual incresse in the proporlion
of women,

(] Opportunities sceir vermain to arisc

{D| The difficalty is that women arc
unlikehr ta ke rrained for soy direcl
combat oporation,

1L can be inferred from e pass=ge that

after the recent change

{A| Some jain willingly, some afre
furced,

B Mern are forced, women join
willingly.



(C} BEveryvonce joins the military
willingly.

(D} Everyene jeins the military under
compulsion,

It cam heinferred from the passage thet

[#) Oppormunities for wormen in militsry
ale uerlain Lo decline,

(B} The society encodrages inoreascd
participation of women in direct
i palmFi

iC) The Government sarciions cqual
piy for souad worlks.

(L] The change o all-volunteer armed
forces leok place many years age

The “drameatic gains for women® and

change in the atdmede of a ‘sienifeant

portion of the larger sociciy' are

logically related to each other inas

miuch as the author puts forward the

latter ‘as

[A] & public response fo achicvement
ol the former.

{B} a pre condition ve wny prospect of
achieving 1ne [ormer.

(C) a reason for some of the former
oeing lost again.

(1) the major reason forabsence of the
[ormer.

The primury purpose of the passapge s
1

{A) prescntarcasoned nroghossof the
statue of wormen 13 the new Unied
States sll-volunteer- comed Torees:

[E] present an averview of the culerent
tvpes of assignments availabie 1o
wome:,

[C) pressnt the new United Slores all-

volurteer armed lorees as g maodel

case of egual cmaoloyment policies

i action.

analyae reforrms . n Lthe new Undted

Siptes all-volunteer armcd forces

necoessitared by the ncreasing

number of wormen in the mililtang.
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tPractice Set J

PASSAGE -~ 1

Tn 776 BC the First Olympic Games
were held at the foot of Mount Olympus to
honcur the Greek's chief God, Zeus. The
Greeks emphasised, physical fitness and
strength in their education of youth,
Therefore contests in running, boxing,
jumping, discus and javelin throwing,
borse and chariot! racing were held in
individnual cities and Lhe winners
competed? cvery four vears at Mount
Glympus. Winners were greatly
honoured? by having poems sung about
their deeds. Originally these were held as
games of friendship and any wars iu
progrese wers halted to allow the games
to take place. The Greeks attached so
much importance to these games that
they calculated time in [four year cycles
called Olympizds’ dating from 776 BC.

TEequl Jre:-
1. 191 2. gfgen s, seafim £ 9m e
(Contest, contend ! 3. F=Tfad FA1 |
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1. Where were the First Clympic Games
' held?
At the foot of
{2) Mount Olympus.
(b} Mount Olympiad.
(e} Mount Crels
d} Mounrt of Greeks.
2. Why were the Olympic Games held?
{a) To atop wars.
(b] To crown the besl athletes,
(2] To honour Zeus.
(1) To sing songs about athletes.

3. Approximately how many vears agn

did these games originage?
[a} 776 vears. (b} 2279 veoars.
(¢) 1207 vears. (d) 2786 vears
4, Which of the fallowing contest was
ot held?
fa) Discus throwing.
ib) Skating
o] Bnxing
(d) Running.
53 The wvalucs connected
Olympic Games were:
{a] physical filness, education of
vouth and friendship.
(b) health, contests anc singing,
Ig] Tunniag, juinping, throwing and
boxing.
{d) four-ycar ¢vcles, war-time, young
age and Mmendship
PASSAGE-2
Faith in progress is desp willin our
culture. We have heesn taught to believe
that our lives are better tharn the lives of
those who came belore s, The ideology®
of modern economics sugpgesty that
malerial progress has yielded® enhanced®
satisfaciion aml well being But much of
our confidence abott our cwn well heing
comes from the assumptlont (hal pur
lives are easier than tnose of earlier
gerlerations,
 The lives of the so called primitive
people are thought to he hargh, their
existence dominated by the “incessant
quest [or Zood'. In fact, primitives® did very
little work, By contemporary standard we'd
nave to judgs them very lazgy, The key to

with



understanding why these ‘stone-age
people’ failed to act like us, increasing
their worl effort to get more things, is
that they had limited desires. In the race
batween wanting and having, they had
leept their wanting low and in this way
ensured® their own kind of satisfaction.
They were materially poor by
contemporary standerds, but in at least
one dimension”, we have (o count them
richer. '
|r wEagu yreTe -

1. Teremm, TGl 2. WeW AU (to provide, |
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1. What is the basis of faith for progress
and growth according to the writer?
(a) Failh in progress is deep-rooted in
our cullure.
(b} We have been taught
PrOgress 13 NoCccasary.,
[c) Material progreoss has given Uus
strengih.
{d] We have assumed progress,
2. Whatl does the writer attribute to
modern economics?
{a) That our lives are casier than
before.
(b) That progress is a natural process.
{c) That material progress leads lo
satisfaction and well-being.
(d} That it forces us to assume
progress,
3. What is the writer’s imape of the
primitive people?
(@) Their life was harsh.
(b) They did not work,
(c} Thev were lazy.
(d} Search for food was their primary
focus in life.

that

4. Whatis the kev to understanding the

primitive people’s behavieur

according to the passape?

[a) They had no desires,

(b They had evervthing they needed.

{c] They had limited desires,

{d] They kept their wants high.

How does the writer appreciate the

primilives?

{a) They had a low degree of wants,

(b} They were the masters of their
Lo wwing Lo Lheir contenledness.

(¢} They were materially poor.

[d) They were highly satisfied.

ol

PASSAGE-3

In the past 30 yvean s, doclur s across Le
world have accepted the practice of
preseribing? antibiotics at the firs: sign of
a trivial* mfection or treat patients with
a handful of antibiotics. These davs it is
noi uncommen fo see practitioners
prescribing mulliple antibiotics without
any rcal indication or relevance® for such
a combination of drugs. Anlitiotics have
tradizionally been known as miracle drugs
but there is growing evidence* that they
are overworked miracles®, cspecially in
countrics like curs where there is easy
access® to drugs across the counter,
including antibiotics, We cannot think of
a return to pre-antibiotic days, Yet the
unbridled® u=ze of these apents is
inexorably® propelling'® 1us in that
direction.
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1, “We cannot think of a return to pre-
antibiotic days’ means-
&) Anlibiotics became indispensalie,
(b} We rnust go back to pre-antihintic

davs,

e} We cannol stop using sntiniolics,
[} We can stop using antibiotcs,

2. The passage tells us that
|a) The antibiotics work miracles.
) The antibiolics are available at the

COUNIeTs.
[z) The use ol antibietica is
unconirnliabls,

(di Antibiotics are used
indiscriminately,
3. ‘These days it iz not uncommen to
pregcribe antibiotics’ means-
lay It is rare to prescribe antibiotes,
() Itiz a common practice 1o presaribe
antibiolics,
[e] Tt iz not & rmommon praclice to
prescribe entibiotics:
{d) IL is compulsary to prescribe
antibiotics.
4. Anibintics are called ‘overworked
miracles” because-
{a) They performed miracles.
{b) They are hardly used.
le} They are over-usecd.
{d] They exhausted their miracles.
5. The Passage discusaes the use of-
(a) Drugs in gencral.
{h) Miracle drugs.
{z) Antibictics,
(d) Combination of different drugs.

PABSAGE-4

Among nature’s most intrigaing'
phenomena® are the partnerships formed
by different species, The name uscd for

these relationships, symbiosis?, comes
from Greek mesning “living together®, Mot
all symbietic relationships are the same.
There @re some called commensal
relationship®, in which one partaer gains
g benchit while the other gaing little or none
but iz not harmed. One example is the
relationship between two tvpes of fisl,
remoras srnd shark, The remors, which is
long and often striped®, atiaches itself fo &
shark (somectimes to another type of isior
d whalc), using asueker® on ity head, When
tke shark makes a kill, the hitchhiker’
briefly detaches® itself to feed on the
gcraps®, Another type of symbiotic
relationship is parasitism!® in which one
partner benefits at the expense® of other
Tieks!? and tapeworms are among farmiliar
parasites.

The third type af symbictic
relativoship,. called mutwaliem?!?, isa true
parthership i which both partners benclit,
The relationship may be liited as wien
zebras and wildheast grase together on the
vast Aftican grasslands, Each species can
survive an its own, but together their
chanees for delecting predazors are
improved because cach contribute a
gpecially keen scnss, (Zebras have the
berter eyesight, wildbeast hearing and
zense of smell). Iin fow cascs partners are
=0 interdependent® that one cannot
survive without the other. Most
mutualistic relationships probably lic
snmcwhere in betwee,
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1. Remora feeds-
(4] On the sharz it travels with,
(b} On ~he left-over parts of the shark’s
prey.
[¢] Dy detaching itsclf to attack the
prey,
{d) On a whale or another type of fish.
2. Parasiues-
(a) Are neither beneficial nor harminl
Lo arimals they are with,
(b} Benefit at the expense of the
animals they live with.
{v) Are benefcial to the ammals they
live with.
{d) Harm the animals they live with,
3.  Commensal relationship is a tvpe of
symbicsis in waich the relationship
is beneficial-
[2) To one and karmless o other.
(b] To one and harmful ta othe:,
(c) To bath,
(d) To bath for a very short time,
4. The passage t2lks about how animals-
(z2) Help each other.
(b} Live togcther,
() Take sdvantage of the weaker ones.
(d) Are related to cach other.
5., Remora attaches itself to the shark
or whale
(8] By entwining its long body around
the bizger fish.
(b By hiting inte the fish’s body with
its teeth.
(ch With an adhesive organ found on
its head.
[d} With a hocl like structure on its
head.
FPASSAGE-5
Al |'whatever could be gaid was said.
AlTheld him guilty?’. Kven hus own mother
who elaimed? tv understand Lim the best.
All had betrayed him in his hour of need.
Yeu, there ke was, s1ill with a sparkling

hope* atnd knew that the iruth must
prevail®, [ the cold, dark and damp® cell
he never for a mamert lost faith in God
and goodness and was waiting anxiously
for an angel” to come, plead non puilty
for him and [ee Liin of his miseries®,

HEErgul FIeETg: - ‘
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I. Three of the lollowing statements
indicate that he had a spa-kling hope.
Which statemenrt does not?
fal He had never Tast faith in God,

() Ile was sure there was goodness,

() He could have evidence in his
favour,

[d) He knew that the fruth must
prevail

2, Whatever others said about him, he:
(n) betreyed no one.

(b) thought over the problen.
() never lost faith in goodness.
(d) raised his voice agnital injustice,

3. Inthe datk dungeon he always waited
for:

(a) his rmother.

1) the jailer,

[c) the verdict
miserises,

[d) the angel to
him.

1. The truth must prevail means:
(a) he was oue.

() ange! will reveal truth:
(¢} truth alwavs winsg in 1he end.
(e} we must plead for tae truth,

ireeing him of his

coine and plead for



PASSAGE- 6

Onece while travelling by the local bus. 1
gnt a spat beside & very strange man, e
seemed interested in every passenger
aboard. He would stare at a person,
scribble! some odd mathematical
nntatiens? on his long notebook and then
move o Lo the next, Being guite interested
in what he was doilng, | asked him what all
Lliose notations meant and then came the
startling® reply. He saw a man's fce noc
asa single unit but as thousand of squares
put together, He was in fact a statistical
expert and a budding® art’st learning the
art of graphies.
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1. The man was scribbling down;
{a) the figures of co-passengers.
(b} the details of thousards of sguares
put together,
{c) some mathematical formulse and
‘caleulations.
[d) some mathamatical signs.
2. The man caught auther's attention
because:
(&) he was sitting nex: to him,
(b} he was staring at every person in

the bus.
(c} he would stare at every person and
then scribble down some

mathematical notaltion,

(d) he was a budding artist learning
the art of graphics,

3. The author found that mar’s reply

guits startlicg becausc

{a) a statistical expert cannet be a
budding scientist,

|b) a budding artis: cannot e a
stztistical expert.

(¢} graphics 18 still & rare art form and
he was learning it while travelling
in a bus.

(d) the [act that “a man’s face can be
analysed as thousands of squares”
was a sirange concept.

4. Prom the passage we gather that

(a] the author is very inguisitive,

(b) the author tries to poke his nose
i othor people’s business,

(¢} the autkeor 18 interested in
mathematical notations.

{d] the author wants to talk to fellow
pessengers in the bug.

PASSAGE-T

With the inewitable' growtlh of
specialization, | see the universities
facing two great dangers. First, 1t iz very
easy lo get so involved in the rechnical
details of education that the object of
education is lost, And sccondly, in an
effort to condition a university to the
needs cf its stucdents and to the needs of
the State it may Inse its power tc make or
mould? those students into responsible
men, capable of thinking for themselres
and capable of cxpressing the results of
their thoughts to others.

HETTU] T
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1. The author calls growth of
specialisation ‘inevitable’. Which one
of the following statements is likely
to be the most correct reasorn {or this
inevitatility?

(a} Universities give grants only to do
specialised work in diferent
disciplines.

() The professors and researchers in
universities are competent only
for specialised work,



[c) Specialization helps economic
growth of the nation

(d} In arn age of science and technelogy
specialization becomes necessaty,

2. Which one of the following
statements most correctly suggests
the central theme of the passage?
[a] The zim of ccucation is

specialization.
(b) The aim of education is Lo cnable
the vouth to work for lhe State.
(=) The aim of education is to make
the vouth capable of independent
thought and expression.

() The aim of education is to enable
the vouth to earn a comlortable
Living,

3. Which the following
statements most corrootly suggosts
the warning irmnplied in the passage?
[2) University education should not be

concerned with technical details,
(b] University should net subordinate
Lremnselves Lo e bnlerests of the
Staste.
[c) University should be concerned
only with the needs of students,
[d] University should no: go in for any
specialization.

PASSAGE-2
One December night, a family had

gathered around ther fireside’ and piled?
it high with wood gathered from
mountain sireams and rains of great
treeg that had come falling down the
mountain sides. The Ere roared® and
hrightened the room with its lighz. The
faces of the fathor and molher had a quiet
gladness; the children langhed; the oldest
daughter was the picture of happiness al
sevenleen: and the aged* grandmother
who sal sewing® in the warmest place was
the picturs of happiness grown old,

nne of
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1. The firewood had been:

() Drought (b) stolen

Ic) collected (d} found
2. The parents locked

(0] serene () choerful

(o) eloomy (d) dull
3. The oldest daughter looked:

{d) TnoTON (14 jabilant

(o) inguisilive (d) meournful
PABSAGE-9

The unpleasanl feeling passed and
she glanced" guardedly up‘ at him. He
was walking uvnmaorked in mooniight,
mnocent of her reaction to him. She felt
that this thought had come to her before
and there might be more to him than she
nad imapined, She felt ashamed she had
never thanked him for the help he had
miven to her father,

WW:—_
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I. She glangced at hin when:
(a) he walked alone and unnoticed in
moognlight..
(b} she was surc that she was not
boing noticed.
[c] her reactions did not have ary
effect on him.
i) the unpleasant feeling passed
2, Her unploasant [eeling passed when!
(4] he did not taks any notice of hoes
(k) the moonlight was beautiful
¢} she realized her sense of shame,
[} =hie looked carefully at him,
3. 5Bhe was azhumed because:
{a) she was spying on liim,
(b} there was more to him than she
had imagined,




{e) a recurring thought came back to
her.

{d) she had never thanked him for his
help to her father.

PASSAGE-10

AsIslung! my pack ontoe my shoulders,
# big musyuito thudded® ageainst my
cheek. There had been a few through the
day, but it was early in the season-the ice
had gone out® just two wecks before and
| had scarcely noticed them. But now as |
would get down the ridge®, the last breeze
fadedS, and they were on me. Rising in
clouds from the soggy tundra, they pelted®
against my face, | reached in my pocket
for the repellent”, atid came out empty.

B Bl
H‘%?EI'QP'F-; T -

. T 2. 9 & Wy T2 A (To fall hit
somthing with a low dull sound, 9 1‘-51!
2 4. A B TR 5. AlG W, 9% B
6. AR HAA1, THIA 7. FE

1. Thetraveller vould not feel the brecee
becanse:

(#) the mosquito had bitten him.
(b) he was at the foot of the ridge.
(¢) thers was no ice in the mountain,
(d) there was no breerze on the tundra
molntain.
2. The traveller carried with him:
{a) mosquito repellent.
(b) a pack of foed.
(¢} 2 sling.
{d) & back-pack.
3, When he was in the arctic, the time
af the yvear was:
{a] middle of winter.
() early autummn.
[} early spring.
{d) middle of summer.

PASSAGE-11

Journalism® means several things.
First of all, it means the ability o write
and convey thoughls in a way that people
will understand things quickly. It means
heing able to turn long articles into shape.
IL means knowing your grammar and
composilion rules inside out and upsids
down®. It also means a nose for news and
feel tor words, respect for truth and a sense
of mission. A journalist shonld he able to
size up® a situation on the spot. He should
alzo develop a deep insight into human
cotditions. Nobody can teach you the finer
aspects® of journaliasm, No plastic surgeon
can give you a nose for news. No teacher
can give you a feel for words.
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l. The passage is on.

{a) the jeurnalists, surgeons and

teachers.

(bl the merits of journalism.

(¢} what journalism is about.

(c} the ournalists’ feel for words.
2, Ajournalist should be thorough with.

(a) all the rules of wntng.

(b the news,

(c) grammaar and composition,

{d) the insight into human conditians.
3. One of the main requirements for a

journalist 15 to.

(&) edit articles,

(t) have a good nose for news.

(¢} respect everyone.

(d) exploit a situation.
4, The ethics of ournalism is,

{a) Tespect for truth.

(b) understanding people.

(L) alilily teo write,

{d] search for news,




5. Which of the following statements is
not true?
(a] A plastic surgeon can help a
jonrnalist.
{b) A teacher can hardly assist a
journalist,
{c] Everyone cannot be a journalist.
(d) A journalist should be able to convey
his thoughts to his readers |
PASSAGE-12
The Indizns az A groun are nnt cohegive!l
There is a lack of ‘coordination” among
individuals, groups, institulions and
states. This lack of ‘eoordination® may be
traced to selfishiness, lack of trust and the
inability to find joy in working together as
4 team for a commen goal, This leads to
divisiveness® asking for criticism, wizh
the result images are tarmished and the
main  purpose is defeated. This
phenomenon is visible among the
bureaucrats, the politicians, the
intellectuals, the business community and
the sports fraternity?, all those who mattsr
and who give a poor account of themselves
a5 -8 group despitc individual krilliance.
This conirast in humat behaviour can
perhaps be traced to age-old beliefs,
religious tolerance®, poverty and the
diversity® in-day-to-day” living coenditions.
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L. Why are the Indians not cohesive as
agroup?
{a) There iz a lack of coordination
between individuals,
(b} There i=s a lack of coordination
among individuals, groups and
states.

{c) There is a lack of coordination
between individuals and states.

{d) There is a lack of coordination
among individuals, groups,
mshitutions and states.

2. What does lack of coordination leads
to?

(a) Divisiveness,

(bl Divisiveness and asking for
eriticism.

[c} Asking for criticizm,

{dl Nething ia particular.

3. Which word in the passage means loss
of brightncss or dull?

ia) Brilliance o) Phenomenon

(o) Vigible (d) Tamish

4. To what can the contrast in human
behavicur be traced to?

(2] Age-old beliefs end diversity W day-
to-day living,

(b} Age-old beliefs and religious
tolerance,

(g] Age-old beliefs, religious talerance,
poverty and diversity in day-to-day
living.

) Nothing in particular,

3. Whatdoes 'goal’ in this passape mean?
ra) The place where the ball has to pass
in a football match,

i) An object of ambition,

(el A point scored by a particular {eam
in a football match,

|d) The poles fitted at the end of a

foothall field.
PABSAGE-13
¥The beauty of the Japanese
landscape® is that it conveys®

philosoptical messages through each
feature, The use of curving pathways
rather than straight lines, for instance,
This feature springs from the belief that
only evil iravels in straight lines. good



forces tend to wander. Then, odd numbers
of plants on trees are used in these
gardens because these numbers are
conzidered auspicious®. Even the pants
used are symbolic, For example, the Cyprus
represents longevity and the bamboo
svmbaolises abundance,” says Sadhana Roy
Choudhary,

In Japan nature is said to be so closely
intertwined® with human life that parents
actually plant a sapling® in their garden
when a child iz born in the family, letting
the grawth of the child coincide® with the
growth of the plant.
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l. ‘“Abundance’ means.
(a] long life (b) happiness
(e] plenty {d] permanent
2. The Japaness parents plant a sapling
at the time of birth of a child becauss
(a] it is auspicinus to plant a sapling,
(b) it is closely associated with the
growth of the child,
{c) it gives longevity of the child.
(d) it gives happiness to the child.
3. According to the passage the Japensse
are
{a] supersztitions.
(b} philosophical.
{c! lovers of nature.
(d) Iuvers of mumerology
4. The Japanese pathways tend to be
{a) symbclic (b} beauriful
(c} curved {d} straaght
5. They orefer curving pathways because
(al they are inauspicious.
(b} they can walk easily.
(c} they stumble over straight ones.

(d) gond spirits walk on them.
PASSAGE-14

A recent investigation' by scientists
at the USA Geological Survey shows that
strange animal behaviour might help
predict? future earthquakes. Investigators
fourid such oceurrences® in a ten
kilometre radius of the epicentre of a fairly
recent quake®, Some birds sereeched® and
flew about wildly, dogs yelped® and ran
uncontrolably.

Scientists believe tha: animals can
perceive” these environmental changes as
early as several days before the mishap®.

In 12786, after observing the animal
behavicur, the Chinese were able to
predict a devastating quake® Although
hundreds of thousands of people were
killed, the government was able to
evacusgte!® millions of others and thus
keep the death toll'! at & lower level.
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1. What prediction may be made by
cbserving animal behaviour?
(1) An impending earthquake,
{3) The number of people who will die.
{z) The ten kilometrs radius of

epicentre.

{d) Ecelogical conditions,

2. Which of the following is not true?

(a) Some animals may be able to
sense an approaching earthquake,

(b) By observing animal behaviour
scientists perhaps can predict
eartthyguakes,



(¢} The Chinese failed to predict the
carthgualke.

[d} All birds and dogs ina ten kilometree

range went wild bofore the guele.

3. In this passage the word ‘evacuate

Means
la) remove (b} exile
(c] destroy {d] expel

4. Tf scientisls can accurately predict
carthguakes there will be
[2) fewer animeale going crazy.
(b) a lower death rate.
{c) fewer people evacuated.
(d) fuwer cnvironmental changes.
+  How can animals perceive these
changes when human beings cannot?
[a) Animals are smarter than human
beings.
(B) Animeals have certain instincts
that human beings dont possess.
{c] By running round the house, they
van feel the vibrations.
(d) Human beings don't know where to
ool
PASSAGE-15
A 23 year old British woman was
vesterday setitenced to six months in jail
for leaving her two vear-cld daughter home
alone eight hiours a day, five days a week
for & yvear while she went to work. The
voung mother from the central town of
warwick initially hired a babwvsitter, when
she landed a job in & ravel apency but
eventually reached the point when she
could ne longer afford the facility,
prosecutors’ said. The woman then
started leaving the child home by herself,
providing it with food and toys and
removing all potentially? dangerous
otyects from its reach. At first the mother
came home at lunch time but had to stap
beecausce her daughter threw tantrums®
every time she Ieft to go back to work.

The mather, who was not identified, told
the court, “If | had moncy I would not have
done it. It was a case of that or not keeping
my job and living on benefit”.

The judge, Mr, Harrison Hall, however
said "Having had a child, the absolute
priority is to look after it, There must be
an aiternative to leaving a child alone all
day, a thing you would not do even to a dog”,
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1. The young mother had to work in the
office
(a) 40 hours a weck,
(b) B hours a weelg,
() 48 Livurs & week.
{d) all the seven days a week.
2. The word Tacility” in sentence refers to
(8] her job in the Lravel agency,
(h) living in a well furnighed
apartient.
(¢} getting adequate salary.
(d} employing somconc to look after the
child.
3. The mother stopped coming home for
lunch because
() her house was far away from the
olfice.
{b she was not able to control her angry
balywy.
[c] she had 1o work extra hours to earn
INOTE.
(d} she was not interested in looking
after the baby.
4, The sentence “IT | had money, I would
not have done it" means
(a) [ had money and so 1 did not leave
the body alone.
{b) I h=d money and so T left the baby
alone.



() T had no wency and so [ left the
haly alane.

{d} 1 had no moeney and so 1 did not
leave the baby alone.

5. Which one of the following statemoents
abont 1he judge M- Harrison Hall is
correct?

(a) He can tolerate crusity to children
buil not to animals,

(h) He can tolerale crucliy to animals
bt not e children,

[¢} He can tolerate cruelty beil Lo
childrert and animals,

{d] He can tolerate eruelty neither to
children nor to animals,

FASBAGE-16

From the world of magic, hypnosis’ is
maving inte the world of medicine, From
hoeus-pocus® performed by men in black
capes?, to hypaotherapy® practiscd by
doctors in white coats. The purpuse 1= {o
help people stop smaoking, lose weight,
overcome phobiag, and control pain in a
variety of medical situatiens, from
childbirth ta cancer. Hesearch laboralories
are currently checking out the siiccess rate
of therapy under hypnosis, while medical
joumals stand by to publish the results, And
the imporian: thing is, nobody is laughing

I the 1840's, a British docter in
Caleutltes created a controversy hy
porforming over 1000 operations with
hypnosis as the only anaesthesia® Duning
the Warld Wars, German and British
doctors used hypnosis to treat war
neuroses”,
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1 Hypnosis means
fa) auto-suggestion.
bl suggestion tiade in Lrance.
e} anaesthesia.
[d] hoous-pocus,
2, ‘TWobody is langhing at hypnetherapy
now, because they am
{a) sad (b} angry
e} taking it seriously (d) annioyed
3. The parpose of hyopnotherapy is to
{a) cure patisnits,
(b make 1ife easier.
(¢} earry out research.
{d) check out the success rale
4. German and Dritish doctora wasd
hypnnsis as
{2) anacsthesia wae not availehie,
(b} anacsthesia was nol needed,
{c] it was a substitute for anzesthesia,
{d] it was fashionable durmg the war
pericd.
5. Trealing war meirosis means
(a) canng wadness.
[0} curing brain fever.
{z) dealing with war problems.
(d) curing wdr anxiely.

PASSAGE-1T

Read not o contradict® and conluse,
nor 1o believe and take for granted®; nor
to fird talk and discourse?, but to weigh®
and consider. Some books are 1o be tasted,
others to be ewallowed?®, and some [ew to
be chewed® and digested. That is some
books are to be read enly in parts; others
tw Le read, bul not euriously; and soms fow
to be read wholly, and with diligence” and
attention, Some hooks may alse be read by
deputy®, and extracts made of them hy
others but that would be only u the lass
important arguments and the meaner®
sort'® of hooks; else distilled boolks are like
cormmon distilled'® waters, flashy'®
things. Reading maketh a full man,
canference a ready man, and writing an
exacl man.
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I What should be the purpose of reading
a book?
{a] To contrad:ct,
(b} To weigh and consider.
(c] To take it for granted.
(d} To understand the contents.
2. Why are some books to be tasted?
(&) To be read with great care.
(b) To be read with great attention.
(¢} Te be read orly in parts,
i) Te he read thr fun.
3. How is man's character influencec by
the art of writing?
(&) It make=s him a great wriler,
(b] It makes him a ready man.
{g) 1t makes him a full man,
{d] It maxes him an exact man.
4, What kind of hooks is to be reac by the
deputy?
(a) Extraordinary books.
(k) Ordinary boolks.
{c) Interesting books.
(d} Meaner sort of books;
3. What is meant by ‘chewed and
digested™?
(a) Thoroughly read and understood.
(b) Partly read and understood.
(o} Understood without any effort.
(d) None of the above,
PASSAGE-18
The Printing Press has made
kniowledge available to the vast multitude
of people — Pray!, what kind of knowledge
iz it? [= it of any permanent character?
Books have become commeon and, when we
say that boolkes like the Sexton Blake series

sell like hot cakes®, we have an index of
the nature of knowledge which a wyrpical
Ferson in a vast nmaltitude seeks, Let me
el vou of an inoident that took place in
America o few years ago. An American
publisher printed a million copies of the
work of Charles Dickens in the hope that
he could easily sell them on the name of
the author. But to his disappointment?
not even the w:dest publicity and
advertisement could enakle him to sell the
books. Being sorely tired, he hil on & plan,
He tore off® the cover pages, substituted®
Ccovers conptaining seosational® love
headings for the titles and again advertised
the new boolts. [ a weel:, all the bocks
were sold out. We are not concerned here
with the moral of the bookseller's action,
What we have to note i3 that only seoks of
a sensational type are really sought for by
the ordirary folk who have a great
aversion” to serious study, So, vou will see
that the grand argument that the Printing
Fress has made knowledge available even
Lo [he masses is certainly fallacions? and
quite misleading. To put it correctly, it has
created a taste for a low erder of books.
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1. Sexton Blake series are hig seller’s
because they ...
(a) disseminate knowledge,
(b} are inlormative.
lz] satisfy a typically serious reader.
[d) are sensalicnal
2, The American publisher had chosen
the werks of Charles Dickens to ...
(a) give wide publicity to Dickens’
wOrks.
(k] offer the readers what best he
could,

i’




{c] counter the trash,
{d) make money easily.
3. Whar is the main contention of the
paggage?
{a) To stress the popularity of the
printing press
{b} To point out the disappeintment
of serious readers,
{o) To shed light on tne morale of the
pullishers,
{d) To bring out the evil impacts of the
printing press,
4, ‘The author's contention makes us
feel that he ....
{a) is unilateral in his argament.
(k) iz halanced
(¢ is a typical critic.
(d) argucs convincingly.
5. Who 1z Charles Dickens?
(a) A playwright,
(h) An epic poet.
() A shorl story writer,
(d] A novelist.
PASBAGE-19
(Jar awareness® of time has reached
such a pitch of intensity? that we suffer
acutely® whenever our travels take us ‘nto
sorme corner of the world where peoplc are
not interested in minuics and sccoonda.
The unpunctuality of the orient, for
example is appalling® 1o those who come
{reshly from a land of fixed meal-rimes and
regular train services. For a maodern
American or Englishman, waiting 15 a
pavichelogical torture. An Indian accepts
the blank hours with resignation, cven
with satisfaction. He has not lost the fine
art of doing wothing. Qur notion of time ay
a collection of minutes. each of which must
be filled with some husiness or
amuscment®, is all greck to them. [for the
man waa lives in a pre-industrial werld,
time moves al a slow and easy pace; he

does not care about each minute, for the
good reason that he has not been made
conscious of the existence® ol minules,
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1. What is the main theme of the
passage?

la] Concept of time in pre-induastrial
world.

ib) The Greek coneept of time.
] Awarcness of time in the maodern
industrial world,
id! The orienzals and their awareness
of time,
2, The orientals are alien to
ia) the business of amuscrnent.
ib! the notion of time as a cellection of
minutcs.
lc) industrialization.
id! the fine art of doing nothing.
3. A person who belongs to pre-industrial
world
fa] ktiows the utility of time.
iy} known how to derive happiness by
making use of time carefully,
fc) does not care dboul sacll o nute,
il eares muech for every mminute,
4. According to the aulhor
ia] the orienials are very punctual.
ibj the Amcricans or the Tnglishmen
are punctual.
i) the Greel: and the orientals are
very panctual.
id) the Indians ate very punctizal.
3. The ‘vrient” i the passage refers to
ta| Chira and Japan.
b Japan anc England.
'c) England and America.
i) America alonic,



PASSAGE-20

As civilization proceeds! in the direciion
of technology, it passes the poinl ol supplying
all the basic essentials® of life, food, sheler,
clothcs and warmth®. Then we sre faced
with a choice between using technology 1o
pravide and fulfil needs which have hitherto?
been regarded as wnnescessary or, on the
ather hand, using technaology to reduce: the
mamber of hours of work which a man must
do in order to earn & gven standard of Lving,
I other words, we either raiss our standard
of Iving above that necessary for comibriand
happiness or we leave it at this level and
work shorter hours. 1 shall take it as
axiomatic® that mankind has, by that time,
chasen the latler allernative. Men will be
working shorter and shorter hiours m ther
paid employment.
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1. “Then we are fmced with a choice....”
what does “then” refer to?
(al When antomation takes over many
aspects of human life.
(b The present state of civilization,
(¢} The past stage of civilization.
(d] After having provided the basic
essentials of life.
2. What does the passage suggest about
the use of technology?
fa] It creates new and essential needs
for menlond.
(b It is opposed to the basic essentials
ol lile.
(o] It is complementaty to a raised
standard of living,
(di It is responsible for man's love of
coznfort and happiness.

3. What does increased usc ol technology
imply?

fal An advanced stage in haman
civilization.

() A backward step in human cullure,

{z] Unnecessary comfort dAnd
happiness for mankind.

(d) Man's zoest for mnore and more work,

4 What does the author suggest?

(2] Mar wall gradually rise above his
present stage n civihestion.

(b Mar: will eradually settle dovwm to
the =ame stage with fewer hours
ol work,

(c) Man will gradually raise his
staudard of living hy working longer
hours.

(d] Man will gradually sarn & given
standard of living with the help of
techrnology.

PASSAGE-21

It iz said that fdeays are explosive® and
dangerous, To allew thorm unfettered?
freedom is, in feot, to nvite disorder. But,
Lo this position, there are at least two inal
answers, It is impossible to doaw a line
arcund tlangerous nicas, and any attempt
at their definitinn involves monstrous®
[ully. I views, moreover, which imply*
disorder are able to disturb the foundatioas
of the State, there is somoething supremely
wrong with the governance of the State.
For disorder is not a habit of manland, We
cling so eagerly to our accusiomed ways
that, sz even Burke insisted: popular
vinlenice is always the outcome of & deep
popu.ar sense of wrong.

TEE FE - B ]

1, faepfqurds 2. FREE 3. 909 4. 75 B A1

i o= =

1. VWhat does the central point the
passage emphasize?



3

(a) 1t i= unnecessary to define
dangerous ideas.

(b) Dangerous ideas are born out of the
enjoyment of freedom.

{c) A well-governed State isunaffected
by dangerous ideas.

[d} Dangerous ideas originate from
man’s pre-occupation with politics.

From a close study ol the passage,

which one of the lbllowing statements

vielges most clearly?

{a) The anthor is against the exercise
of political fresdom.

[b) He is indiffereat to dangerous and
explosive ideas.

(¢} He welcomes violenve as a method
to change governments.

{d) He warns that violence is the
outcome of popular dissatistaction
with the povermment,

The muthor savs, we cling eagerly tu

our acenstomed ways' Which one of

the following stalements may be
congidered ps the assumption of the
author?

{a) We are afraid of social changes,

(b) Manlkind is averse to any disorder,

(c) We have developed inertia that
makes us incapable of social acrion.

(d) There is an all-round lack of
initiative on the society.

Which of the following statemoents may

most gorrectly bring out the

significance of the opinion of Burke
quoted in the passage?

(z1) Burke advecated violence ngainst
injustice.

(b} Burke’s opinion coincides with the
author's opinion on explosive and
dangerous ideas,

(c) Burke hated any popular uprising.

{l) Burke had no belief in poelitical
hberty.

PASBAGE-22

The mpsychological causes of
unhappiness, it is clear, are many and
various, But all have something in
comman. The Wepical unhappy man, is one
who, having deprived in youth of some
rormal satisfaction, has come to value this
one lind of satisfaction more than any
other, and has therefore given to his life a
one-sided direction, together with a quite
undue emphasis wpon the achievement as
cpposed 1o the activitics cennected with it
There 15, however, a further development
which is very common in the present day
life. A man may feel 30 completely
thwarted! that he seess no lormn ol
sarisfaction, bat anly distraction? and
oblivion®. lle then bucomes a devotee of
“nleasure”. This is to say. he seeks o
make jife bearablet by becoming less alive.
Drunkenness®, for exsmple, 15 tCinporary
suicide-the happiness that it brings is
merely negative, a momenlary sensation
of happiness.
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1, Who isa rypical unhappy man?
{a) One who has becn deprived of
normal satisfaciion in youth,
(t) One who finds life unbearable and
allempts suicide.
(¢} One who does nol mind mementary
unhappiness.
{d] One who secks every form of
satislaction,
3 “One sided directinon” refers to the
pursuil of wiich one of the following?
(a) Drinking and forgethilness.



{b) The satisfaction one had been
deptived of.
(c} Activities leading 10 happiness,
{d] Every form of psychalogical
galislaction. .

3. Which one of the following is the

correct statement?

Drinking helps the unhappy only to

(a) forget their dissatisfaction.

(b) gzet sublime happincss.

{c) get the motivational needs fulfilled.

(d) concentrate harder,
4, What does “becoming less glive

irnply?

(a) Neglect of health.

{b) Decline in moral valucs:

{c} Living in a make-believe world,

{d) Leading a sedentary way to hving.
PABSAGE-23

What is to be the limit of forgiveness'?
It would probably have been allowed by
many of the ancients that an unforgiving
temper was 1ot 1o be commended.? Thoy
wotld have said, we are not to execute® a
penalty for every nice offence;® we are to
overlocok scmethings; we are to be blind
sometimes. But they would have said at
the same timme, we must be careful to keep
ouTt self-respect, and to be on & level with
the world. On s wiole, ey would have
said, it is the part ef a man fully to requite®
to his friends their benefits and to his
enemies their injaries.
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i Which one of the wllowing is the
correct stalementa?d
According to the passage, writer must
{g) ignore an offence il il is nice.

(b} forgive people if they bring us nice
presents,

(o) forgive pretty offenders,

(d} mor punish each and every offence.

2. Which one of the following is the
correct staterment?

We must

(a) be blind if we want to forgive others.

(b) be blind to the faults of our friends.

() be Indifferent to what others do.

(d} everlook certain things,

2. Which one of the following is the
correct statement?

In ancient cimes, people were.

(a) ardered to lose their tempers.

(b) permitted to loss their tempers and
not forgive their enemies,

(o) told thal it was not good to have an
uniorgiving temper.

(d) advised to forgive each and every
offence committed by both frends
ard foes.

4, What is the underlying tone ol the
passage?

(@) We rrust D¢ forgiving in general,

(b} We must forgive our friends.

(c] Thers is no limit whatsocver to on
duty to forgive:

() We must always punish the wrong
doer.

PASSAGE-24

Once upon a time, T went for a week's
holidav in the Continent with an Indian
[rierd, We both enjoyed ourselves and were
sorry when the week was over, but on
parting our schaviour was absolutely
different. He was plunged in despair’. He
folt that because the holiday was over all
happinecss was over until the world ended,
He could not express his sorrow too much,
But in me, the Englishman came out
strong. | could not see what there was Lo
make a fuss about. It wasn't as if wo were



parting forever or dying. ‘Buck up'®, | said,
‘1 said, ‘do buck up’. He refuse to buck up
and I left him plunged in gloom.,
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1, What is the Continent in the context
of the passage?

ial An island. |b] The countryside
[} Africa, id) Europe.

4. What does the author mean by ‘buck
up?
(&) Buckle yourssif up,
(b Stand up, {c} Cheer ap.
{d) Bhut up.

3. Why was the Indian friend plunged in
despair?

(1) He was hopeless,

{b} He expcrienced racial discnm-
irafion,

{e] He would never be so happy again,

[d} He had spent lot of money,

4, What does But in me the Englishman

came outl strang’ imply?

{a) He was 2 strong Englishman.

(b] He had the tvpical English
chargeter,

() The Englishman went out of hiot.

[di He started following Indian
traditions,

5. What is the author’s intention in the

pussage?

|a) To compare the Indian character
with the English character.

{bj To show that an Indian is sorrowiul,

[g] "I'o ridicule the Indian traditions,

{d} Te praise the Englishman.

PASSAGE-25

The world is very full of penple —
appallingly® full; it has never been so full
before, and they are all tumbling over®

cach othar. Most of these people one
dossn’l Kinow and some of them one doesn't
like. Well, wha: has one to do? There are
two solutions, One of Lhem is the Nazi
solution. If you don't like people, 161 them,
banish? them, and segregate® thern, The
other way is much less thrilling®, but it is
on the whole the way of the demovracies.
And I prefer it, [f you don’t like people, put
up with them as well as you can. Don't try
to love them: vou san't, voull cnly strain”®
yoursell, Burt try to tolerate them.

,_______—_‘
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I. What does the author mean by
‘appallingly?
fa! He iz making an appeal 1o the

leaders of the masses.

{bi In disconcertingly large numbers,
(c] Very interesiing,
{d) Unpredictably.

2: Which one of the following is the
correct statement?
According to the writer Nazi salution

is

{a) the carliest solution,
{b] the readiest solution.
(c) the mational solutinn.
(d] the Hitelerian solution.

3. Which one of the following is the
correct stalement?
The author thinks that the other
solution is much less thrilling because
i1 is
(a) dull,
(&) bas=ed on tolerance.
(o] not based on love.
{d] lacking adventurs.

4. Which one of the following 15 the
correct statement?



The author prefers the seconds
solution because

() he likes it

(b) he is not a Nazi.

fc) he is essentially being a democrat.
(d) there Is no other way.,

PASSAGE-26

We should preserve! Nature to
preserve life and beauty, A beautiful
landscape?®, full of green vegetatian®, will
nat just attrac: our attention bul will fill
us with infinite satisfaction.
Unfortunately, because of medesinization,
much of nature 15 now vielding to towns,
roads and industrial areas, Tina ew places,
gome nalural reserves are rnow being
carved out® tuo avert the danger of
destroying Nature completely. Man will
perieh® without Nature, so modern man
should continue this strugge to save
plants, which give us oxyvegen, from
extinetion®, Moreover, rature is essential
to man’s health, '
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1. What does “Nature” in the passage
mean?
{a) Couniryside covered with plants and
trees.
(hj Physical power that erpated the
wiorld,
() Inherent things that determine
character,
(d) Practical study of plants and
animals
2. Which onc of the [ullowing is the
correct statement?
According to the passage

[a) beauty is only skin-deep.

{b) evervthing is beautitul in its
naturzal state,

(c) there is beauty in nuture.

(d) Nature is a moral teacher,

3. What does the writer suggest?

() We should not modernize, so that
Nalure can be preserved,

{b] While modernizing, we should be
careful not to destroy nature
completely,

(c) All nature has been destroved by
modern living.

(d) Carving out natural reserves will
hamper the growth of indusiries.

4. What does “strugele” in the passage

mean?

(1) Man’s struggle toexst in the world,

(0 Man's struggle to save Nature,

o) Man's struggle to catch up with
modern trends.

(d] Man’s struggle to conserve oxyren,

Why a beautitul landscape SAll fill with

infinite satiafaction™

[a) We love beauts,

[b) It is full of green vegelation.

{ch It will ensure nur future existence.

(d} It will show our command over

Matiire.

!lJI

PASSACE-27

Ir1 the technelogical svstems af
tomarrow fast - fluid and sclf - regulating
- mackines will deal with the flow of
physical materigls; wen with Lhe fow of
mformation and insight'. Machines will
increasingly perform tasks. Machines
and men both, instead of being
coneentrated in gigantic factories and
factory cities, will be scattcred across the
globe, linked together by emazingly
gemaitive, near-instantaneous?



communication. Human work will mowe
out? of the factory and mass office intc the
community and the home. Machines will
be svnchronised, as some already are, to
the billionth of a second; men will e
desynchronised®, The factory whistle will
vanish® Even the clock, “the key
machine of the modern incustrial age” as
Lewis Mumford called it a generation age,
will lose some of ity power uver luans,
az diztinet from purely technological
affairs. Simultaneously, the organisation
needed to control technology will shift from
burcaucracy to Adhocracy® [rom
permanence’ tc transience®, and from a
concern with the present to a focus on the
future.

In such a world, the most valued
attributes® of the industrial age become
handicaps. The technology of tomorrow
requires rot millions of lightly jellersd
men, ready towork in unison at endlessly
repetitive jols, it requires not men who
take orders in unblinkmg fashion, avare
that the price of bread is mechanica.
submission’® to authority, but men whig
car make eritical judgements, who can
weave!' their way Lhrough nobel
environments, who are quick o snot new
relationship in the rapidly changing
reality. It requires men who, in C.P
Snow’s, compelling terms, “have the
futurc in their bones”,
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1. The technological system of tomerrow
will be marked by
{a) dehumanisation,

(t) perfection. (c) automation.
{d) unpredictahility,

2. The future man, according 1o this
passage, must be:

{a} most adaptative anc intelligent.

(bl most capable of dealing with the
changing reality.

{c) more concerned with the present
than the future,

{d] trained and cbedient.

3. ‘Wear-instantaneous  COMMUN-
ications’ may be regarded as a symbol
of:

{a) anachronisation,

(b} mischronisation

(o) desynchronisation.

{d) svnchronisation.

4, [f a pergon believes that the price of

. is mechanical submissicn to

authority’, is:

[a) a believer in devotion fo duty,

(b) a believer in taking things fut
granted,

[t] & believer in doing what he is told,
right orwrang.

(d) a believer in thec honesty of
machines,
5. The type of society which the author
haz mentoned makes a plea fon
[a] a mind assimilative of modern
scientific ideas.

(b} a critical mind having insight inte
future,

(e} & mind well-versed in cultural
heritage.

(d) a mind with firm principles of k.

PASEAGE-28
A reason why children at school read

books is to please their teacher. If the

leaclier has said that his, or the other isa



good book, and that iU is & sign of good Leste
to enjov it, a number of boys and girls,
anxious! to please their teacher, get the
boolc and read it. I'wo or three of them may
genuinely like it, for its own sake, and be
grateful to the teacher for putting it in their
way. But many will not honestly like it, or
will persuade? themselves el sy like
it. And that does a great deal of harm. The
people who cannot like the book mun the
risk of two things happening to them;
gither they are put off® the idea of the
baok-let s suppose the book was David
Coppericld-cither they are nut off the idea
of classical novels, or they take a dislike
to Dickens, and decide firmly never to
wasate their time on anything of the sort
again; or they get a guilty® conscience®
about the whole thing, they feel that they
do not like what they ought to like and
theredore there iz something wrong with
them.

They are guite mistsken, of course,
There is nothing wrong with them. The
mistake has all been on the teacher’s side.
What has happened is that they have been
shoved up® agairst a book before they were
ready for it, It is like stomach-ache, and a
rooted dislike of that article of food
EVHATTIIEOTE.
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1. The passage is about what,
(a) we should do to make children read.
(13} we should not ask children to read,
(¢) teachers should teach in the
clagsroom,
(d) treatment is to be given for
indigeation.

2. The wriler says hal leacher shoold:

la! prevent children from reading any
book.

'b) compel children to read moral
atoriea,

le) stop compelling caildren to read
books recommended by them,

(d) carefully supervise what children
Teard,

3, According to the author many bays and
girls read books to!

[a} win the favour of their tescacrs.

b spend money in a useful wav.

le) express their gratitude to their
eachers.

id] show others that they are lovers of
books.
4. "The mistake has been on the
teacher's sids", Hence, the ‘misake’
relors to;
|a) making the children please the
teacher,

(b) asking the children to read bocks
which teachers do not like.

[e] discouraging childrern: [Fom reading
mere books,

[d] recommending them the hooks
intended for adulis

5, Indigestion and viclent stomach-ache
will be the result if the ehald:

(a) reads books not suitable for his age.

(k) does not read any book,

ic) is forced to eat food meant for
ardnlts

{d) is not taken to doctor regularly,

PASSAGE-Q20

He dropped off* to =zleep. The
cigareite slipped out® of his mouth and
bumnt a great hlack hale in hiz anly shirt,
The amarr of the burn awoke him,; and
he got up, cursing under his breath and
stumble?, ahout to fall in the dark for a



needle in order to sew up the hole.

Otherwise his wife would see it is the

morning and would nag away* at him fore

couple of hours. But he could not find a

needle. He fell asleep again,

1. The gigarectie fell out of the man's
mouth because
[a} hie fell oif lis stool.

{b} he was surprisad to see that it had
made & hole in his shirt.

{c} he fell asleep while smoking.

(d} he fumbled in the dark for a needle.

2. The man woke up in the dark »ecause
(a] the cigarette has burnt his

favourite shirt,
{b] the cigarctte kad burnt his only
shirt.
(] the cigarette had to be lit again,
[d} the cigaretts had trnt him.

3. The man got up to gearch for a needle
because
{a} his wife would be very upset.

(b} the cigarette had damaged his anly
shirt.

(€] ne waned to mend the shirt,

(d] the burn-hole was huge and black,

4. The man wanied to sew the hole
because
{2} he wanted to avoid being scolded

by his wife,
{b) he hed nothing else to do,
(¢} he had no other shirt.
{d] he wanted to sleep again.

5. Which one of the following statements
best sums up the mean's reaction to
his problem?

{a] The man is extremely upset to find
the shirt bummt and frantically tries
to repair the damage.

(k) The hole in the shirt and the wife's
anticipated nagging are minor
problems, the greater one is that
the man canna: find & needle.

e} Neither the shirt-hole nor the
nagging nor the lack of 7 needle is
of great consequence.

(dl The man is terrified of his wife and
dreads her discovering the burnt
shirt.
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PASSAGE-30

Deriving vour autherity from the
government, your position would seeure!
the respect and consideration of everyone,
egpecially in a service where official rank
carries so much weight, This would secure
you every attention and comfort on your
way and there, together with a complete
submission to your orders. T know these
things are a matter of indifference? to you
except so far as thev may further, the greal
cbiects vou have in view, buat they are of
importance in themselves, and of every
importance to those who have a right o
take an interest in your personal position
and comfort,
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L. The great objects in the passage
MEeans
(a) Significant items
{b) Noble zoals.
[¢] Precious merchandise,
{d] Uhjects of praise.



2. The writer is asking his reader to
accept
(&) great ohjects.
(bl a respected position.
ic] en official ranl.
{d] a significant assignment.
d. The perscn addressed in most likslyr a
{a)] soeial worker,
(b] government scrvant.
{c) commercial agent.
(c]) foreigr. dignitary.
4. The writer's attitude tewards the
person addressed is characterised by
(a) Officiousness,
{b) Flartery,
{e] Humility.
{d) Arrogance,
3. The above passage most prodably is g
prrtofa ’
(a) Speech.
[b] Official communicaticn.
(¢} Written report;
(d} Personal letter.

PASSAGE-31

The New Year is a time for
resclutions'. Mentally 2l least, mostofus
could eompile? formidable? lists of do's
and don’ts. The same old favourites recur
Year in and year out with monetonous
regularity. Past experience has taught us
that certain sccomplishments are beyond
attainment. 1f we remain inveterate®
smokers, it is only because we have so
often experienced frustration that results
from failure. Most of us fail in our cfforts
at self improvement because our
schemas are too ambitions and we never
have time to carry them out. We also
make the fundamental error of
announcing our resolutions to everybody
so that we look even maore fonlish when
we slip baclkinto our old bad ways.
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The phrase formidable lists of do's and

don’ts means that

{a) the bad points of our eharacter are
formidable.

b the [izt iz zo long that it is
frightening.

{c] the things that need 1o be included
i3 frightening,

[d] the realisation that we are so
imperfect is frightening.

'The same clé favourites recur ......

with menntonious regularity’ implies

tha:

(a) we want to be so perfect that we
include some items regularly.

[bf we have been so regularly doing
certain things that they have
becorne monctonous,

[c} in spite of repeated failures, we still
would like to try one more time,

(d) some favourite actions if repeated
often could secame monotonous.

The author seems n imply that ITIATLY

are inverterate smokers because

(2] they have not really tried to give
up smoking,

(b) they know from past experience
that they can never succeed in
their attempt to give up smoking,

{¢) they want to forget the frustration
of not smoking.

(d) they do not nave he will PoweEr to
stop amoking, _

Tlie author says tha: most of us fail

in our attempts at sel” improvement

because

(2) we set too high goals for ourselves.

{E} we do not have the persistence of
mind.



(¢} our nature is such that we cannot
become perfect.

(d) certain imperfections have
become & part and parcel of ow
lives.

5. The author seems to think that othera

{a} leel happy when we slip back to our

old ways.

(bB] do not really want us to improve

oufrselves,

{c) are ready to tease and laugh al var

attempts.

{d) rmight embarrass us by praising our

aftempts.
PASSAGE-32

As a farmer, | was determined’ that
we should get en the compulter handwagnn,
says Krishnappa Jagannath, the 40-vear
old head of the Gram computer-savwy?
brother in the US, Jagannath drew up a
plan and convinced others of its merit.
Within no time?, he wag able to raise Ra.
63,000 from the public, enough for the
purchase of two assembled Pentium Il
COmDUiers, -

That was easy enough. But who would
operate these machines? Jagannath
decided that it had to be the villagers
themselves. He got is touch with a software
company, which agreed to train the
villagers., Although waty! initially, the
people knew it was worth a try. As they
realized it was not so difficult, more and
more villagers joined in. Those like T.8.
Shobha whe showed a greater aptitude®
were sent for extensive training,
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1. Initially Krishnappa Jagannath raised
Re. 65,000:

-

2] As a loan from hank.
(b) As & loan from Gram Panchayat,
(¢) From the public.
[} As a borrowing from his brother in
the US,
2. Krishnappa Jagannath is a;
(@) Computer engineer trained in the
7=
b} Head of the Gram Panchayat.
{c] District Magistrate of Belandur.
\d) Benior Secondary Schoal teacher
in Belandur,
3. Initially the major problem which
cortirunted the villagers was:
fa) Whether branded or assembled
computers should be purchased.
B Arranging finance for purchase of
computers.
(e} As to whao woeuld operate the
machines.
[d] Getting clearance from the
Government authorities,
4. T.3. Bhobha was sent for extensive
iraining because she
(] Was a graduate,
{b] Shawed a great aptitude for
Computers.
{c) Had a computer-savvy brother in
tha LIS,
[d) Was very influential,
5. Computer training for the villagers
was arranged through:
{a) Computer Seciety of India,
(b) A software company.
{c) Government of Karnataka.
[d} A Non-Government Orgamezation,
PASBSAGE-33
Engineers India Limilted (EIL}, a
public sector undertaking was set up in
1865, It is the leading degign and
efigineering company in the field of
petmoleum refineries, petrochemicals, oil
and pas orocessing offshore! structures
ard platforms, fertilizers, metallurgy, and



power. The services provided by EIL include
design, engineering, procurement?,
conslruclion anagement, commissioning
assistance and project management
besides specialist services in the areas of
environmental engineering, heat and
mass transfer egquipment, information
technology materials and maintenance,
risk analysis, energy conservation and
advance rontrol and optimization. It has
to its credit over 4000 assignment
including 250 major projects. EIL has
exported its services to a number of
countries in Asia and Africa,
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1. Engineers Ilndia Limited iz:
(2] A petroleum company.
(bl A leading design and engineering
company.
fc] An engineering
organization.
(d} An IT company.
2, Engineers India Limited handles:
(a] Only government contracts.
(b Projects only within the eountry.
ic] Projects both within India and
abroad,
id] Prejects only in the private
sector within India.
3. Engineers India Limited does fiot deal
in which of the following areas?
(2} Construction management,
(b) Environment management.
{c) Heat and mass transfer equipment.
{d} Cement manufacture,
4, The services provided by FEngineers
India Limited include:
(a) Commissioning assistance.
(b) Financial help.
[c) Water-harvesting.

training

{d} FExport durty clearance,
5. Engineers India Limited provides

specialist services in:

{a) Procurcment.

(b) Construction management.,

[c} Risk analvsis.

{d) Project management,
PASSAGE-34

Some people believe that they are
masters of their own fate. Qther people see
themselves as pawns of fate', belicving
that what happens to them in their lives
is due to luck or chance. The first type,
those whe believe thul they control their
destinies?, have been labelled® internals,
whereas the latter, who sec their lives as
being controlled by outside forces, have
been called externals. Internals search
more actively for information before
making £ decision, are more motivated to
achieve, and make a greater attempt to
control their environment. Externals,
however, are more compliant and willing
to follow directions. Therefore, internals do
well on sophisticated tasks* — which
include most managerial® and
professional jobs - that require complex
information processing and learning. In
addition, intcrnals are more suited to jobs
that require initiative and independence
of action. Almost all successful
salespeople, for instance are internals. In
contrast, externhals should do well an jobs
that are well structured and routine and
in which success depends heavily on
complying® with the directions of others.
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1. Which one of the lullowing is not
correct?
Internals-
(a} Have more confidence in their
ability.
(t) Are more enterprising.
(e) Ga in for more routine jobs.
[d) Arc more inguisitive.
2. Which one of these is correct?
{a) Internals believe in destiny,
{b] Internals seek jobs which are full
of fun of fun and enjoyment.
le) Internals helieve in receiving
guidance and directions from
superiors only.
{d) Internals seek johs which call for
more initiative,
3. Externals perceive themselves:
(a) as those who search frantically for
more information,
(b) as critical to the success of the
organization,
[c} as those who can influence sales
volumes.
(d) as hawving little contrel over
organizational outcome.
4. Externals:
(&) Opt for acquiring new skill-sets,
b} Believe that initiative and drive
are important for career-building.
fc) Believe that destiny coutrols their

lives.
{d) Relish handling complex
information processing,
PASSBAGE-35

The prisoner’ awailed his chance. For
three solid years he had schemed for this
opportunity. Now that escape seemed so
near at hand, those three years lost some
of their monotony?. But he would never
forget the lashes?, the close confinement®,
low diet, and worse still the mental strain®
of those black days. Suddenly the warden
did what he had hoped. He stupped to unlock
the lower padlock®, With a dull thud he

slimped forward with keys in his hands,
Swiftly the prisoner seized his keys,
unlocked the hall, and ran inloe the
courtyard.” [t took him four seconds to
reach the rope-ladder secretly placed there
by his accomnplices, five mare to clamber®
over the wall, and three more to jump into

‘the waiting car to be whisked away® to

freedom. Even though he was guilty, the
prisoner'? fclt he had paid for his crime,
for the man he had robbed three years age
was still a millionaire'!.
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1, For whart crime had the prisoner been

punished?
a2} Murder (b) Arson
{c) Robbery {d) Kidnapping

2. When had the criime besn cornmitted?
(a] Just before the escape.
(b} Three vears earlier.
(¢} Long ago.
(d) Day earlier.
3. Who slumped forward with a dull thud?
{z) The millionaire,
(b} The warden.
lcj The prizoher.
{d) Prisoner's accomplice.
4. How many seconds did it take for the
prisoner to regain his freedom?
(a) Four (b) Eight
e} Twelve {d] Ten.
5. What did the prisoner suffer the most
during imprisonment?
(2] Logs of freedom,
{b} Mental strain.
[z) Physical torture.
(d) Abseuce from his family,
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